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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Seating Arrangement Questions Overview

Seating Arrangement Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Seating Arrangement Questions.

Seating Arrangement Questions

Direction: Read the following information carefully and answer the questions given below. There are eight members in a
family M, N, O, P, Q, R, S, and T, in which there are three husbands, two daughters, and two sons. They all are sitting
around the circular table facing the center. Either both or no parent is alive. They all like different cricketers viz. Dhoni,
Kohli, Raina, Jadeja, Harbhajan, Ashwin, Rohit, and Dhawan. There are equal members of males and females in the
family. Q likes Raina and is sitting with the one who likes Dhoni and the one who likes Rohit. P is the daughter of O, who
sits second to the right of her son. T likes Harbhajan and is married to the one who likes Ashwin. No male likes Raina. S is
the father of N and is sitting with two male members. M is the father of O and R who is male. R likes Ashwin. The one, who
likes Rohit, is a female and married to the one who likes Jadeja. N is the sibling of P. P likes Dhawan and is sitting second
to the left of her father. M and N do not sit together. All females are sitting together. Q is not married to the one who likes
Dhoni.

Question

How is the person who sits second to the left of S, related to the one, who likes Raina?

Difficulty : Moder ate Average Time: 89 Seconds

Options :
1. Grandfather

2. Father
3. Grand daughter
4. Mother

5. Grandmother

Solution

The correct answer is Option 3 i.e. Granddaughter
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From the statements:
M is the father of O and R who is male. R likes Ashwin.
P is the daughter of O, who sits second to the right of her son. (So, O is female)

T likes Harbhajan and is married to the one who likes Ashwin.

From the statements:

S is the father of N. N is the sibling of P.

Q likes Raina. No male likes Raina. (So, Q is female)

The one, who likes Rohit, is a female and married to the one who likes Jadeja.
P likes Dhawan.

Q is not married to the one who likes Dhoni.

(Only M is left so, he will like Kohli).

From the statements:
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S is the father of N and is sitting with two male members.

P likes Dhawan and is sitting second to the left of her father.

All females are sitting together.

P is the daughter of O, who sits second to the right of her son.

Q likes Raina and is sitting with the one who likes Dhoni and the one who likes Rohit.
M and N do not sit together.

Thus, the final arrangement will be as follows:

The seating arrangement of the members of the family:

Blood relation among the members of the family:

Thus, P sits second to the left of S and is the granddaughter of the one who likes Rainai.e. Q.
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